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K 4 51 g | ¥2H iist 3 fEH Eg
WWHE EF = 8 /N2 200m IM 3:37.25
HE Bk = 10 N 200m IM 3:09.35
thE T8 T 11 N5 200m IM 3:14.69
7 BH EFE X 11 /5 200m IM 2:45.53
% FHE B z 10 g 200m IM 2:46.43
~ B K2 % 9 M3 | 200m IM 9.42 80
)\ WE X %= 9 /4 200m IM 2:52.00
5 mpE ME = 12 g1 200m IM 2:32.40
7 Bya BA Z 15 3 200m IM 2:30.91
i By ¥EA E=S 15 g3 200m IM 2:33.40
B —8 2 6 g5 200m IM 3:34.02
N 5 4| 200m M 3:30.27
{ FHE ¥4 3 N3 200m IM 3:29.80
BH 4L e N3 200m IM 3:00.44
/A Es B = 12 /N6 200m M 2:43.68
7 EH HEE E: 9 N4 200m IM 3:02.96
- _ h8 K B 12 /6 200m IM 2:38.20
T Il A a8 15 §13 200m IM 2:10.86
‘%/ o iz o ] 14 2 200m IM 2:17.15
s 7 M 55 % | 11 | 45 | 200m IM 2:47.89
yﬂ )’ 8 =xH =S 11 N5 100m Ba 1:10.19
NS ® | 15 | @3 | 100m Ba 1:02.54
z. Ik SEX 5 11 /1°6 100m Ba 1:15.74
B ,/P\Z AL 5 15 | @3 | 100m Br 1:04.49
E=F BE =S 13 b2 100m Br 1:17.10
— A M MEE % 11 IN5 100m Br 1:23.09
2 FHEJI T S N3 50m Br 0:55.87
XE & z /N3 50m Br 0:48.72
BH 2% = N3 50m Br 0:52.57
ME FE = 11 /N5 50m Br 0:47.91
HR HF Z 11 ING 50m Br 0:45.79
TrlgE ZH x N3 50m Br 0:46.28
K &I z /N3 50m Br 0:47.21
EH IEX E:) 10 N4 50m Br 0:40.87
EE IR 3 12 1\6 50m Br 0:37.32
I e 5 12 /N6 50m Br 0:37.85
R R % 9 /M4 50m Br 0:45.27
AEBE TE T 11 N5 100m Fr 1:07.96
5T ¥@| z 13 el 100m Fr 1:04.52
L8 Fi z 11 NG 100m Fr 1:08.00
TH BX ] 14 b2 100m Fr 0:55.34
wE 5 2 14 2 100m Fr 0:57.65
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K4 % 51 Fh | 2F isk #H Escd
JEE XTE z 12 g1 100m Fly 1:13.86
By A = 15 &3 100m Fly 1:08.77
AKX B=E x 14 2 100m Fly 1:09.83
2T 5 H 14 th2 100m Fly 1:00.50
BE X 2 12 1 100m Fly 1:05.98
K #ETH =8 9 /N3 50m Fly 0:40.05
$5K 4T " 10 M 50m Fly 0:35.21
N Je Pt ) = 9 /3 50m Fly 0:43.12
BEH BX = 9 /N3 50m Fly 0:46.72
INERSE ERA B 7 2 50m Fly 0:45.43
FHE ¥th s 9 N3 50m Fly 0:42.31
=B F—H 2 8 /N3 50m Fly 0:47.02
M 2 s 7 2 50m Fly 0:43.29
N 2 10 /N 50m Fly 0:34.99
ngE SR L] 11 NG 50m Fly 0:32.85
e & 2 11 N5 50m Fly 0:33.51
5 IEE 5 10 N4 50m Fly 0:34.73
Bk EE Z 13 ol 200m Fr 2:16.60
JE 18 x 14 3 200m Fr 2:14.23
EE OME z 12 g1 200m Fr 2:20.35
AE 7T =3 11 /\5 200m Fr 2:25.82
=t BF Z 2 50m Ba 0:48.77
KE & =z /N3 50m Ba 0:46.93
IWE EF z 2 50m Ba 0:49.38
HE Bk s 10 N4 50m Ba 0:37.64
£8 %R Z 11 /N5 50m Ba 0:32.89
RiR %4 z 10 N5 50m Ba 0:38.60
BEH FE x 11 N5 50m Ba 0:36.99
Hoh HREE 2 9 /4 50m Ba 0:44.66
M 2 Es 7 2 50m Ba 0:46.36
R E#=H 3 9 4 50m Ba 0:42.28
2 28 g2 9 /N3 50m Br 0:38.66
EH EE 3 9 M 50m Br 0:41.20
52T Em z 13 ol 400m Fr 4:45.16
AR BE = 14 th2 400m IM 5:15.38
&F B= = 13 g2 400m IM 5:15.38
BT 5 2 14 2 100m Fr 0:56.14
BE #X 2 12 g1 200m Fr 2:06.12
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NEFE A B 2 50m Fr 0:42.21
=.E BT % /N2 50m Fr 0:42.31
FHJ 8 /N3 50m Fr 0:40.47
g ZH = /N3 50m Fr 0:37.56
HEF B1E =z 10 N 50m Fr 0:35.76
K D55 = /N3 50m Fr 0:37.36
HR BEF = 11 NS 50m Fr 0:36.03
pii ol A L= 10 /4 50m Fr 0:32.53
W X % 9 N 50m Fr 0:33.32
R %4 z 10 N5 50m Fr 0:32.70
ngE OXTE z 12 2l 50m Fr 0:31.59
BT RE = 9 N3 50m Fr 0:31.52
L5 Fi % 11 N6 50m Fr 0:30.56
Bk E=x T 13 b 50m Fr 0:29.31
ZH xR s 11 N5 50m Fr 0:30.45
EF —HK e 6 e 50m Fr 0:39.22
=X =T E: 9 N3 50m Fr 0:34.72
28E Z—H il 8 N3 50m Fr 0:38.28
B W4 5 9 N3 50m Fr 0:33.61
b8 ¥ B 12 /\6 50m Fr 0:29.78
L¥ EE L 10 N4 50m Fr 0:32.66




